
Sticker Club

Write and solve a number sentence for each problem.

stickers+ + =

Manu counts his stickers. He has 7 cat stickers, 1 horse sticker, and

2 dog stickers. How many stickers does Manu have altogether?

stickers+ + =

Sten has 3 space stickers. He buys 4 more. Then Stig gives him 5

space stickers. How many space stickers does Sten have now?

stickers+ + =

Manu buys 5 horse stickers, 2 dog stickers, and 4 space stickers.

How many stickers does Many buy in all?

stickers+ + =

Klara counts her stickers. She has 4 dog stickers, 3 cat stickers, and

6 horse stickers. How many stickers does Klara have altogether?

stickers+ + =

Stig has 3 cat stickers. He buys 6 more cat stickers. Then Klara gives

him 2 cat stickers. How many cat stickers does Stig have now?

stickers+ + =

Sten buys 2 space stickers, 3 bird stickers, and 4 dog stickers.

How many stickers does Sten buy in all?
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